hegibau

=== === —=—=—=—==——=—=——

I BALKON ZIMMER 2
I BF 27.06 m? BF 12.96 m?

p=
ZIMMER 1
BF 12.99 m?

I WOHNEN

I BF 41.34 m? BALKON

I BF 14.16 m?

I

I

I 37-4.10 4. Obergeschoss 37-4.10 37-4.9

I 4, Zi-Whg

L BF128.94 m? 3. Obergeschoss 37-3.8 37-3.7

I

I 2. Obergeschoss 37-26 37-25

I

I = 1. Obergeschoss 37-14 37-13

H = D

I Erdgeschoss 37-0.2 37-01

1 .

I KUCHE ] Untergeschoss

I BF 10.42 m?

” DA -1 8- DX N
ZAN/AN ZANVAN

EINGANG
BF 9.31m? BF 4.38 m?

Wohnung 37 - 4.10
4. Obergeschoss | 4% Zimmer

ZIMMER 1 ANKLEIDE . o
—— T A Nettowo.hnflache 128.9m
Balkonflache 41.2 m?
ZIMMER 1 I ANKLEIDE I
2 2
BF 16.76 m BF 576 m TREPPENHAU 0 1 2 3 4 5 6
BF19.82 ITI2 m
F.B. +11.54

37 = Massstab 1:100




